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SECONDARY SCHOOL EXAMINATION - 2019 (ANNUAL)
Model Set (SCIENCE)
fa=m=
Candidates are required to give their answer in their own words as far
as practicable.
gl guiad o Tl ¥ SR T

Figures in the right hand margin indicate full marks

frrf%:ﬁaﬁ'\'mﬁﬁwﬁugqaﬁﬁq;ﬂrf?ﬁﬁﬁeaﬂﬁﬁ
w1 ;- 2 "< 45 fre & - 80
Time : 2 Hrs. 45 Minutes Full Marks : 80

= gy - Genral Instructions :-

. = ysE-UE @ 2 wWvel §, Wi Ud ure—d|
There are two section in this question paper. Section-A and
Section-B.

2 w—aﬁmmﬁam@nﬁ?ﬁwnmmﬁmmﬁw
queii BT I OMR—T3@ W 3 Bl &
Threr are 40 objective type guestions in /section —‘A’. Each
question carries one mark. All objective type questions are to be
answered on OMR sheet.

3, m—aﬁmwﬁuqﬁzﬁﬁﬁfr&m%i

Section-B, Consists of both short answer type questions and long

answer type questions.
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oY SIY gl @ A 9189 (22) 7, 39 9 8y difte—ere @, 7
g% WEH W B UG 7 e Wi Agm @ € ude fdwy
fre—ere, a9 U9 ofig faeE) § aR—ER ueEl &7 ST’ o
2| ude o SN we & forg 2 ofp iRy 2

The number of short answer type question is twenty two (22). Out
of them, eight questions are from Physics, seven questions are
from Chemistry and seven questions are from Bioiogy. Four
questions are to be answered from each subject (Physics,
Chemistry-and Biology). Each short answer type question carries 2
marks.

& Iy gAY W vE (6) & e ¥ | uew Hifde w9, €1
g Y I 9§ iR Q1w oflg s @ 2 Wifoe anm & J
Iokia W B I 6 o, WA Ud SNa fawE & udle <" Sy
e @ fau de—uia s@ fuiRa &1 W@e fava Gike—ars, ErRE
RS Ud Wi [ASTH) @ 6-UF 99 &1 SR e ey 2 |

The number of long answer type questions is six (06) : two
questions each from Physics, Chemistry and Biology. Long answer
type questions from Physics carries 6 marks and from Chemistry
and Biology carries 5 marks each. Answer of one question from

Physics, Chemistry and Biology is compulsory.
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wrs—3 (¥ 9E)
Section A (Objective Type Question)
ﬁﬂﬁ%a@%ﬁﬁamﬂ‘fﬁéﬂﬁﬁﬁqﬂﬁi 40x1=4b
Select the correct option for the given multiple choice questions.

1. ﬁmﬁww@wgﬂw%m%?
A I TUT B. afadidl guvl
C.a<et Ul D. g8 & il

The focal length of which mirror is taken negative ?
A. Plane mirror B. Concave mirror
C. Convex mirror D. All of these

2 ﬁﬂaﬁuﬂﬁqﬂ(ﬂaﬁ?aﬁﬁﬁ‘mm)ﬁmﬂﬁéﬂ%?
A.f=R B.f=R/2
C.f= RIS; D.f=R/4

What is the relation between focal length (f) and radius of

curvature (R) of a lens?
A f=R B.f=R/2

C.f=R/3 D.f=R/4
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=1 % e wmemw &1 avadwe Ay @ 2
A. gar B. 5i&@

C. ¥em D. &1

Which medium of the following has greater refractive index ?
A. Air B. Water

C. Glass D. Diamond
WL gl @ foy g gfte @Y areqaw o @ —
A 25 7 B. 25 &t

C. 25 sy D. s &1¥ €

The least distance of distinct vision for the normal vision is -
A. 25m B. 25cm
C. 25mm D. None of these

T SETE BT B AT (o) Rl e 9 e & weag wed a9

g & ?
A ST B. sfram
C. &t D. der

Which colour of white light bends least when the light passes
through a prism ?

A. Violet B. Blue

C. Red | D. Yellow
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frpe—gfe @1 54 o9 & Swam grr quiide e o |1 € ?
A. JEdd o B. S9d o9
C. flgwiedl o D. 395 9 &l

Myopia can be corrected by using -

A. Concave lens B. Convex lens

C. Bi-focal lens D. None of these

g GRREa iR Har 2 —

A. TTTE DI dldle W B. AT B IR HIC BABA TR

C. wrei & gl THi W D. T 9 W W
The electrical resistivity of a conductor depends on -
A. length of a conductor

B. Cross-section Area of a conductor

C. Nature of a material of the conductor

D. All of these

faera wfda &1 Sl wrss 2 -

A dE B. g€ /Hel
C. afre D. &

Sl unit of electric power is -

A. Watt B. Watt’/hour
C. Unit D. Ohm
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10.

e g faga st &1 AF 8 —

3 4
A. 3.6x10°J B. 3.6x10%J PN ——
A AU, Fitees AUz, siae-H,
5 6 UTSI5hdl, siigd, Al ¢ec, de-31 3ie
s D.36x10 | srRawes wtte et w7 R .
- . .
The value of one unit electric energy is - wquesm"p"@
A. 3.6x10°J B. 3.6x10%J
C. 3.6x10° D. 3.6x10°%J

e & 9 @H—1 dYE W A8 8 7

A. fegga wifa Ggg gR@E IR R BT IR B

B. faera wiex figa Soil ®1 e woll #§ 9gadT & |
C. T T Y@ WREUR &l FIeht & |

D. & fga Qe arerm ar A REgHT dR g § |

Which of the following statement is not correct ?

A. An electric generator works on the pringiple of electromagnetic

induction.

B. An electric motor converts electrical energy into mechanical

energy.
C. Lines of magnetic force do not intersect each-other

D. A wire with a green insulation is usually the live wire of an

electric supply.
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11.

12.

AT & qmEsd | & qrdt g1 o1 Feger Sad wRd) £ —

A 9 WR SR fagga g @ feem

B. gRag &= @1 fawm

C. ureip # yarfed fagqa a1 &1 faem

D. &7 ¥ &g 7

In Fleming's left-hand rule, Middle finger of the left hand indicates -
A. direction of electric force applied on a conductor

B. direction of the electric field.

C. direction of the flow of electric current

D. None of these

P & WIoR gy g4 @Rl o fde & 8k & ?

A, SR g I 2@ g $ 3R

B. =i g & ITR ¢ & 3R

C. eIy &7 Y@l o feen HRaa 75 2

D. g7 4 31§ 7

What is the direction of magnetic field lines inside a magnet ?

A. from North pole to south pole
B. from south pole to North pole
C. direction of magnetic field lines are not fixed.

D. None of these
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14.

15,

AER Soil BT =i = § de-T g ?
A R B. |ifeaH
C. FIed D. 371 | 1

Which of the following is the nuclear energy source ?
A. Uranium B. Sodium

C. Carbon D. All of these

el gAl BT ATAS SR FTE ?

A. Ca(OH); B. Ca0

C. CaCO; D. Ca(HCOs),

What is chemical formula of quick lime?

A. Ca(OH), B. CaO

C. CaCO; D. Ca(HCQ;),

ST B dgd wuEed ¥ s N S 19 a9 &I § 7
A. sifadrer B. giggioiA
C. sifRfo 3R sggoe ]l D. 3=

Which gas is released from the anode during electrolysis of water?
A. Oxygen B. Hydrogen

C. Both Hydrogen and Oxygen D. Ozone

8
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16.

17.

18.

IfHT Arer B TWANS G § —

A. NaHCO; B. Na,CO310H0
C. Ca(OH), D. CaCOs;

The chemical formula for baking soda is -

A. NaHCO3 B. Na,CO;10H,0
C.Ca(OH), D. CaCO,

F—ar wayef o forewy U3 & AT B QT 8 °
A. 3T B. &R
C. oau D. &9 9 ®I% T8

Which substance changes the colour of blue litmus to red?
A. Acid B. Base
C. Salt D. None of these

e aife A+NR”T T pH 719 & —
A7 B. s
C.9 D. 105

pH value of milk of magnesia is -

A7 B. 8

C.9 D. 105
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19, T F S g AHeten € 7
A. smarfed B. We®Y
C. s D. SafaH

Which one of the following non-metals is lustrous?
A. lodine B. Sulphur
C. Bromine D. Selenium
20. ﬁlﬁﬁ‘@fﬂﬁ?{—wm@mﬁﬁaﬁ@v‘m-sﬁaé?
A. Al B. Na
C.Ca D. Mg

Which one of following metals is the most reactive?
A Al B. Na
C.Ca D. Mg
21, Wwﬁmmﬁsﬁﬁﬁﬁmwwé?
A 2 B. 6

L3 D. a

How many electrons are present in the outermost orbit of oxygen

atom?
A. 2 B s
C 3 D. 4

10
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22,

23.

24,

@?ﬁwmﬁ%mﬁm?ﬁwmw%—
A. FrEtfraferd s B. tfeesss

C. &eH D. YemIstd

Butanone is an organic compound whose functional group is -
A. Carboxylic Acid B. Aldehyde

C. Ketone D. Alcohol

TegleE @ 2 wpet B A R ame T € 7

A To IATET B. fg arme

C. B amsy D. g8 ¥ His T8

How many bondsare formed between two Nitrogen atoms ?

A. Single Bond B. Double Bond
C. Triple Bonds D. None of these
Ve BT T A B —

A C.Hane2 B. CiHzn

C. CaHzn1 D. CoHzn2

The general formula for an Alkenes is -

A. CnH2n+2 B CnHzn

C. CnH2n—1 D. CnH21-2

11
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25.

26.

27.

28.

s aadl e ¥ s Y e & —

A7 B. 8 a4

C. o9 D. 18

The number of periods in the modern periodic table is -

A7 B. 8

C. 9 D. 18
Wﬁwﬁﬁaﬁmmwﬁwuﬁaﬁa@m??
A. TRATYAIES FEl & B. URHIY] WTgSH WA |
C. A |G aRafid & 8 D. g8 § I3 &l
How does the atomic size vary in going down a group?

A. Atomic size increases. B. Atomic size decreases

C. Atomic size does not change D. None of these

P SIEH THCHTEE T B WA Bl 8 7

A. uftgq B. foftas

C. emgud D. g7 4 oI 7Rt
Which enzyme breaks down emulsified fat ?

A. Pepsin B. Trypsin

C. Lipase D. None of these

WA YeE Yo S BT ¥ -

A. 80 mm B. 100 cm

C. 120 mm D. 130mm

12
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The normal systolic blood pressure is -

A. 80 mm B. 100 cm

C. 120 mm D. 130mm

29, ORI # YBTE WISWY gRT I WA URY & I 90 H fFHe gN

AT ST & —

A. STIge™ gIRT B. 9altq gRT
C. WgrI D. g8 ¥ 9+l
The food 'manufactured in leaves during the process of

photosynthesis -is transported from leaves to various parts of

plants by —
A. Xylem B. Phloem
C. Stomata D. All of these

30, I W BT ATH g8 S befH g BIAG Ha- P TSRd HXal & |
A g B. @
C. 9™ D. 574 | i

Name the plant which show vegetative propagation by grafting.
A. Wheat B. Rose

C. Paddy D. All of these

13
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31.

32.

33.

FHTAT-IR PR f5y o S SR BT B ?

A. wroEIfeTR
C. arfiar

B. orfran

D. 3574 9§ ®1g &

Kala-azar is caused by which micro-organism?

A. Plasmodium
C. Amoeba

o . w—r fgfert g 2 2

A. T g
C. gdiar gs

B. leishmania

D. None of these

B. @l®! o

D. 7 & &) e

Which of the following is a bisexual flower?

A. Rose flower

C. Papaya flower

Ara ® gorardr Rerg giar @ -
A. il 9§
C. ®Hf #

B. Pumpkin flower

D. None of these

B. 91T H

D. g9 I 9t &

The olfactory receptors in human are located in -

A. eyes

C. ear

14

B. nose

D. All of these

fdegr 9i¥'S =i e yere sifthfaus
FAYeT UUE, Alse QUE, 3Hide-Hl,

UTSehd, siied, Al eee, de-314 3ile

IR eme udte st u= snfe & f3e...
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34.

35.

36.

BHR IRR @ |1 Ufed fhan Afa gk § —
A. TRRkTSp 9 B. wga ¥
C. 91 9 D. sraaw 4

All the voluntary actions of our body are controlled by

A. Cerebrum B. Medula

C. Pons D. Cerebellum
Sigell # gfe smia Efad glar g —

A U=y o | B. sfag Ul 4

C. aftgas W D. g7 ¥ 3 T8

In animals, growth hormone is secreted by

A. Pituitary gland B. Thyroid gland

C. Adrenal gland D. None of these
saRmer @ fagia e ufdurfea fear 2

A Hsd B. = eRfa

C. SN == AN D. 579 9§ ®1g T8I

Who proposed principle of heredity ?
A. Mendel B. Charls Darwin

C. Jagdish Chandra Bose D. None of these

15
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37, foal # o R 8§ -

A XY B. XX
C. XY &R XX & D. 379 & ®Ig &l

Sex chromosomes in female is -
A. XY B. XX

C. XY and XX both D. None of these

38, frerde o o ey FERT | ?

39.

A REH B. el
C. ureief= D. fegy TR

Which one of the following is the bio-degradable waste ?

A. Plastic B. Thermocol

C. Polythene D. Tissue paper
AR 2T Uige fPE 99 @ ofd GUSY Jase € 7
A. BT U39 B. 9<R U9l

C. FENIg D. ff8rR

Which state has arrangement of ‘Ahars and pynes' for water

harvesting system?
A. Madhya Pradesh B. Uttar Pradesh

C. Maharashtra D. Bihar

16
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40.

Thfo® FERET B Y6 & oy 9ad Suge fadey 7 9 9 B9 &7
A $H IuA B. g asHol
C. g9 SugT D. g7 & &

Which is the most suitable choice for management of natural

resources?
A. Reduce B. Recycle
C. Relise D. All of these

17
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Tvs—9 (Section-B)
Y gxif-ss ¥ (Non-Objective Type Questions)

#tfa® s (Physics)

o 9o 9 (Short Answer Type Questions)

Yo HET 1 9§ 8 O% oY Sy Bife @ T §1 3 ¥ {6l 4 e B SR <
(15x2=30)
There are short answer type questions from question no. 1 to 8. Give answer

any four question out of eight short answer type questions. (15x2=30)

1, Wb B Ut e @ fod 2
State the laws of reflection of light.

2 e iU B AT B R YW N9 @ ufafdy @ fow e feRe sy
i 3k =9 ufdfie & udfo, sneR (Wisel) & I @) ford | 2
Draw a ray diagram for image of an object placed at centre of
curvature of a concave mirror. Write the nature, size and position
of the image formed by the mirror,

3. UHTET BT THI0E § AT T FHSKI 8¢ §H T ISRV Iy qHAN | 2
What do you mean by scattering of light? Explain it by giving an

example.

4, faga fava @1 ol #Y ek g9 Sl q5h o | 2

Define electric potential and write its Sl unit.

18
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5. 20Q2 wftRy @ B e s sA fIEd arT ol 81 308 # SO
IoT aRefer B | 2
An electric iron of resistance 20 €2 takes a current of 5A. Calculate
the heat developed in 30s.

6 < guRE a7 Y oo @ aRess a aE e § ? 2
Why don't two magnetic lines of force intersect each-other?

7. ForgReiiy aun sdiERei Sotf wdl d & ofar ford | 2
Write' the two differences between renewable and non-renewable
sources of energy.

8. fare oRRefY # wIHT @ afdor s ey @1 WA fean o 87 2
In what conditions Fleming's right hand rule is used ?

#ef 9<ig 975 _(Long Answer Type Questions)
fepdl TP W HI I S | 2+3+1=6

Answer any one question

9.

10.

it smE Fhhex el fr@ = o1 qa Rgia aen srifaf
W PTG | gTH got FT a1 Y 8? 2+3+1=6
Explain the principle and working of an electric generator by

drawing a labelled diagram. What is the function of brushes.
(A) g 2 7 242+2=6

(B) ot & firon & gRT Uhadil YHTe & ogacd & fHRe R i |

19
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(C) e goTer HT aot e | oy g wae €1 oW § ure wagH
@ quif 1 HH A |

(A) What is prism ?

(B) Draw a ray diagram of refraction of monochromatic light
through a glass prism.

(C) What do you mean by dispersion of white light. Write the order
of colours of spectrum obtained from a prism.

aTa e (Chemistry)

e Sady 9 (Short Answer Type Questions)

qﬂﬂ@nnﬂwaasaqeﬂﬁuaﬁﬁfa%m%qsﬂﬁﬁﬁﬁﬁ4qﬁaﬂw

g |

(15x2=30)

Question no. 11 to 17 are short answer type questions. Give answer any four

question out of eight short answer type questions.

14

12.

(15%2=30)

o T aRe B 9 g9 aen i & e ertie e
ford | 2
Write a chemical equation of a reaction taking place between an
acid and a base.

Seed affhar & o T W & ? U SarEwy i | 2
What do you mean by exothermic reaction? Give an example.

20
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13.

14

15.

16.

17.

pH & &1 2 ? U@ Sardie faeas &1 pH a4 fad | 2
What is a ph scale? Write pH value of a neutral solution.

IHTHT TS S @1 Bl 82 &1 SHI—HH IATaAIgS] BT SEIEY

R | o
What are amphoteric oxides? Give two examples of amphoteric
oxides.

amafas DR FT TG I a4 BT 8 7 2
Why do'ionic compounds have high melting points?

HTe TIg3itaE CO, @l gerag= fawg wRe faar | 2

Show the electrondot structure of carbon dioxide (CO,)
P(15) aliR Ar(18) &1 seraeifa fa=are ford | 2

Write down electronic configuration of P(15) and Ar (18).

<ref Sy _(Long Answer Type Questions)

ool U U HT SR S |

Answer any one question

18.

19.

et @ e TF IEREG O g9 B Soord @ 5
Describe the physical and chemical properties of metals

amfere amact AU # ae@l @GR, WA ITEHR 3R uifad v
senfead T et B ughy B wEsd | | 5
Explain the trends of valency, atomic size and metallic and non-

metallic characters of elements present in modern pericdic table.

21
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siig fasm= (Biology)

oy 9 99 (Short Answer Type Questions)

T W 20 § 26 TF Y ST P P T F| 0 A {4 g BT I

) (15x2=30)

There are short answer type questions from question no. 20 to 26. Give

answer any four question out of eight short answer type questions.

(15x2=30)
20.  (A) ¥ BtAmifea e | 1+1=2
Draw well labelled. diagram of stomata.
(B) %1 &1 q=0 &1 &1 8 ?
What is the main function of stomata?
21.  wfoadt fvar # 9Rass o a7 yfter 27 2

What is the role of brain in reflex action?
22. 0 TF0 To B URIefy g9 5E @ fore Sngwae @) 27
Why is copying of DNA is an essential part of the process of
reproduction ?
23  HME ¥ g2 1 fofT Myt o4 gem & ?
How is the sex of the child determined in human beings?

24, T BT & o9 3fe &7 e 6 g ?

What happens when the egg is not fertilized?

22
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05, URGH ¥ JFUAIGTHT B T AT Sl ¥ ?
What is the role of decomposers in an ecosystem?
26. TG wEue @ Y T AH 67

What do you mean by sustainable management?

Ae 3ada u¥d (Long Answer Type Questions)
5} TH U BT ST T |

Answer any one question

27. W(ﬁﬁﬂ)ﬁﬁﬁm@ﬂ—ﬁﬂﬁwﬁ?ﬁml 5
Describe the structure and functions of nephrons.

28. gﬂqa%aﬁﬁ%ﬁwaﬂﬂmﬁﬁﬁﬂwﬁwzﬁﬁﬁﬂﬂwﬁﬁ
R ¥ ford | 5
Draw a labelled diagram of the longitudinal section of a flower and

mention the different parts of the flower.

fdgre S o1t 3ie qeret sifthfaas
ALY UUe, ATees U, 3ficre-bl,

UT&Ah A, silca, il ¢ee, dAe-34 311e

Ufaehes udtelr uss u7 3ifd & fST...
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